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6th Semester Examination

BOTANY (Honours)

Paper : DSE 3-T

[CBCSI

Full Marks : 40 Time : Two Hours

The figures in the margin indicate full marks.

Condidates are required to give their answers

in their own words as far as practicable.

[Industrial and Environmental Microbiology]

Group - A

Answ er any fiv e que stions.

1. What is BOD?

2. Name two immotilized en4rme.

3. Name two bacteria comrnonly found in air.

4. Name two nitogen fixing cyanobacteria.

5. What is lyophilization

6. What are TDS and TOC of water samples?

7. What is downstream processing?

8. Write down the name of the microorganism used in citric
acid production. p.T.O.
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11. What are the goals and applications of Bioinformatics?

5

12. What is tsLAST? What are types of BLAST? 1+4

13. Describe the word method for alignment of sequence. 5

14. What are the difference between phenetic and cladistic

approach?

biological databases. 10

16. Give the applications of bioffirmatics in drug discovery

QSAR and crcp improvement. 3+4+3

Group - C

Answerany ane question. 10x 1:10

15. Describe with suitable examples the different types of

w


